MR (1) s 00
(1IX)
(BKLLBE#R13E48) RSy
Q K
QO‘ %0’
% &'
57 5
7 TI=HER 1=368.9m 4
T —= XEHRLT —
SEITHZ T . FHEEE GHEM) BERERERA RM-30 CEXEt=30)A=1937. 6m2, £[E (BAMMAETAIY (20), t=50)A=1937. 6m2, K/E (FAZFHAEETAIY (13), t=40)A=1937. 6m2
[ \
REHT - KEHRZE (B - 8) : L=283.5m, KERHKE (FLLE EHSE - 7)) 12270 REREE (K -E5-XF - B) :L=827.1m
| |
REHREE w _ i}
(MEFEh)) - &) REHRE (&5 - &) (FE)  L=283.5n
N=1 g
RE#HHE
No. 0f = o ) - &)
Ao — N=1 &
R Mo REHEE
lz{rgﬁégﬁ & o N0 o 13- - &)
(i - B) N=1 SR . ERRE
L=1.6m \\ e ) COaBE R ) - B RERE e - e
EEREE e, L=2. On, 5% LB 8 N=16FR G fre) - &) EERRE REREE T
(TR ) - ) ' L RERBORREN 0 ) - &) (LR - B) —
N=1&Ffr . ' l N=18&irr N=1 &R %uﬁﬁiyl.—g)
REALELE e REREE ﬂ N=1&R
— (NEFEN)) - &)
(EEAT(T) - B / i N=1 AT eyl
HOLBT KR N-187 \<fi l | ] ﬁfg?””a)
RERBE D No. 60 No 7221 Wo8 T
(L - ) IS S i & e oNo. 9 oNo. 10 o No. 11 No. 120 e No. 130 <= —No
= =No-
L=1.8m / D o No 14 S o 4 No. 160 ONo 17 T -:5”,!__3 3 0
5 [ #uskeg;s
RERHE =0 S —— #1354
g s - 8) —— e - & RERSEE
N=188FR %mi% ay N=1 & EESI) -
N=1 & by
RERRE . P ’ N REN
(TikEh] ) - &) FEREBRIEHT KEfREE En
. &R (HMSE - &)
REHREE N=1 & L=2. 0m, 4%
(B - &) o
L=1.8m

|| AIsETHR

T % 4| BEEHEIE MAURZI3SHKM)
THG | RBMRERREXRERARREE A
X m % FEE (1)

£ 353 TMeFE

e R 1: 1000 ME&ES 1.5
REMTEFRBLIAREEMRE LKA EYEHHR




FEE (2) s 50

(2T X)

CHREMR14054R)
” z ﬁuf/

)(cob
Q >
Y N9
& &
Y IEER L=66.6m 07
wMET —=x

SHEITIAR T . TEEE FEM) BEMEREZERA RI-30 (EH/EL=30)A=389. 2m2, E[E (BAMMIETIY (20), t=50)A=389. 2m2, RFE (BLEFHIETIV (13), t=40) A=389. 2m2
\ \

A ()
i=\n)ac)e
O LI C

A% FRHET

[ | AIzmIEm

T % 4| BEEHEIE MAURZI3SHKM)

THG | RBMRERREXRERARREE A

H 4 FEE (2)
EXEE T FE
e R 1: 500 RE&ES 2/5

REMTEFRBLIAREEMRE LKA EYEHHR




FEE (3) = w

BIK) N
(FIZREM8O0S#R)

% TEEE L=89.3m g7

HET —=

SEITRAT - EE (BERAETAIY (20), t=50)A=184. 0m2, F[E HEEFHIETAIY (13), t=40) A=184. Om2

TR0 45

TSR A 1 BT

[ | XIsmTem

TR 4| BREMHETISE BHLURZEISSHEM)

THEGH | RBTRERREXRERRR(EHET{ A

| A TEE (3)
EEERE SMeEE
m R 1: 400 HEES 3.5

REMEZRIAREEMARRLKRA EYEHR




gh p[/] Y _q-
EEmEE 8=1:40
1T
(No.9)
4900
CL
|
BESREIE [ | e
T | |
(REITEZI)
RE : BEFHETAY (13) t=40
Avya—k PK-4
EE BAMMETIY (20) t=50
54 La—Fk PK-3
THEEE . (HEM) BANERERE R-30 FHEL=30
2TX
(No.2)
4800
CL

BEER /KR

BEE S | ’ ’ ]

1
1
|
'

(HETEAT)

RE : BATHETAIY (13) t=40
Byya—k PK-4

EE - BABAETAIY(20) t=50

IS4 La—k PK-3

TREEIE - GHRM) BENERERE R-30 FHE=30

3IX
(No.2)

2000

| BER (A
| AR

(HEHTEAT)

EHih (H)

RE - BABHETIY (13) t=40

Aypa—+ PK4
EH[E - BAEMMETRIY (20) t=50

F54La—bF PK-3

e

AISEEITER

T % 4| SEEMEIE BAUERZEI35HM)
IHBH | RBTRERREERESRRIEME K
e RS T E R

REEE SH6 EE

e R 1:40 MEES 4.5

REMTEFRBLIAREEMRE LKA EYEHHR




SAEEITEZ T S=1:20
(IR, 2IR)

XE#HRT

A

@IS, B8)

RIE : BETHEASESY (13) t=40 (2. 35t/m3)

2yya—k PK-4

B BAEMMEASESY (20) t=50 (F#E2. 35t/m3)
IS4 La—+ PK-3

FRERE : (i R+) HAEMERERE RM-30) FHEL=30

HEITEZ I s=1:20
(BIRX)

RIE : BETHEASESY (13) t=40 (2. 35t/m3)

Avya—k PK-4
HE HEHAEASESY (20) t=50 (FE2.35t/m3)
754 L3a—F PK-3

i 148
[ ] *,_
HSRE—X
(RiAE) B3
IS4 <—
AR RE RO EILIISKE665 SIS LT
BAuE UERETED,
(HR5) XERHRE (K- i85 - XF - H) 15miftE
" = B O % 2
FA4YI—7 m 16. 51
REEAT—Y (T) m 5 40
RXEBAT—Y (+) m 5 40
MEFEh) m 23.80
B m 57.14
MEEZEE m 4490
T E 4| SHEEMHEISE MLUERKI13SEM)
THEIGH | RAAMARRFEXREARLEM A
X m % HEiERX
EEFE SH6EE
& EilS HE&ES 5/5

REMTEFRBLIAREEMRE LKA EYEHHR




